
SAP ABAP table VIBDAO_DATA {Architectural Object: Detail Data}

VIBDAO_DATA

MEASSTRC [CHAR (4)]

RSAREA [CHAR (10)]

SINSTBEZ [NUMC (5)]

SVERKEHR [CHAR (1)]

SLAGEWE [NUMC (4)]

SOBJLAGE [NUMC (2)]

RGRNART [CHAR (2)]

RNBPLAN [CHAR (4)]

SUNUTZA [CHAR (8)]

SGRART [NUMC (4)]

SGRQAL [NUMC (3)]

SGRFRM [NUMC (3)]

SGRGZS [NUMC (3)]

JERBBAU [CHAR (1)]

RGEBART [NUMC (2)]

RGEBZUST [NUMC (2)]

SSTCKBIS [NUMC (3)]

SLIFTBIS [NUMC (3)]

TDO9

MANDT [CLNT (3)]

SOBJERBBAU [CHAR (1)]

 VIBDAO_DATA-JERBBAU = TDO9-SOBJERBBAU 

0..N

0..N

TIV10

MANDT [CLNT (3)]

SLAGEWE [NUMC (4)]

 VIBDAO_DATA-SLAGEWE = TIV10-SLAGEWE 

0..N

0..N

TIV16

MANDT [CLNT (3)]

SINSTBEZ [NUMC (5)]

 VIBDAO_DATA-SINSTBEZ = TIV16-SINSTBEZ 

0..N

0..N

TIV36

MANDT [CLNT (3)]

SUNART [CHAR (8)]

 VIBDAO_DATA-SUNUTZA = TIV36-SUNART 

0..N

0..N

TIV37

MANDT [CLNT (3)]

SSTOCKW [NUMC (3)]

 VIBDAO_DATA-SLIFTBIS = TIV37-SSTOCKW 

0..N

0..N

 VIBDAO_DATA-SSTCKBIS = TIV37-SSTOCKW 0..N

0..N

TIV44

MANDT [CLNT (3)]

SVERKEHR [CHAR (1)]

 VIBDAO_DATA-SVERKEHR = TIV44-SVERKEHR 
0..N

0..N

TIV45

MANDT [CLNT (3)]

SOBJLAGE [NUMC (2)]
 VIBDAO_DATA-SOBJLAGE = TIV45-SOBJLAGE 

0..N

0..N

TIV56

MANDT [CLNT (3)]

SGRART [NUMC (4)]

 VIBDAO_DATA-SGRART = TIV56-SGRART 
0..N

0..N

TIV57

MANDT [CLNT (3)]

SGRQAL [NUMC (3)]

 VIBDAO_DATA-SGRQAL = TIV57-SGRQAL 

0..N

0..N

TIV58

MANDT [CLNT (3)]

SGRFRM [NUMC (3)]

 VIBDAO_DATA-SGRFRM = TIV58-SGRFRM 

0..N

0..N

TIV59

MANDT [CLNT (3)]

SGRGZS [NUMC (3)]

 VIBDAO_DATA-SGRGZS = TIV59-SGRGZS 

0..N

0..N

TIV5A

MANDT [CLNT (3)]

SOBJART [NUMC (2)]

 VIBDAO_DATA-RGEBART = TIV5A-SOBJART 

0..N

0..N

TIV83

MANDT [CLNT (3)]

RZUSTAND [NUMC (2)]

 VIBDAO_DATA-RGEBZUST = TIV83-RZUSTAND 

0..N

0..N

TIVB3

MANDT [CLNT (3)]

RNBPLAN [CHAR (4)]

 VIBDAO_DATA-RNBPLAN = TIVB3-RNBPLAN 

0..N

1

TIVBDMEASSTRC

MANDT [CLNT (3)]

MEASSTRC [CHAR (4)]

 VIBDAO_DATA-MEASSTRC = TIVBDMEASSTRC-MEASSTRC 

0..N

1

TIVC4

MANDT [CLNT (3)]

RGRNART [CHAR (2)]

 VIBDAO_DATA-RGRNART = TIVC4-RGRNART 

0..N

1

TIVORRSAREA

MANDT [CLNT (3)]

RSAREA [CHAR (10)]

 VIBDAO_DATA-RSAREA = TIVORRSAREA-RSAREA 

0..N

0..N


